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GSQ/D-21 1006
INTERNATIONAL ECONOMICS

Paper - Opt (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. one and two

are compulsory. Attempt the remaining three questions

selecting one question from any three of the four Units.

All questions carry equal marks.

Compulsory Question

( )

1. WTO was formed to promote free trade amongst its member

nations. India is one of the founder member nations of

WTO. India has benefitted from WTO in the sense that

exports of both - goods and services from India have

increased. It has also facilitated large inflow of foreign

investment. TRIPs agreement of WTO has helped in inflow

of foreign technology in India. But critiques argue that WTO

has damaged our domestic industry and adversely affected

Indian agriculturc. They argue that WTO agreements have

led to increased unemployment in India.
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On this basis, answer the following questions :

(a) Differentiate between GATT and WTO.

(b) What are the main features of TRIPs?

(c) What are the advantages of WTO?

(d) What are the disadvantages of WTO? (4×4=16)

GATT 

2. A. Choose the correct answers from the given alternatives:

(a) A depreciation of Rupee refers to

(i) Fall in the Rupee price of foreign currency.
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(ii) Increase in the Rupee price of foreign currency.

(iii) Loss of foreign exchange reserves for India.

(iv) Intervention in the international money market.

(b) Who gave his viewpoints regarding the disadvantages

of international trade under-developed countries?

(i) Nurksc.

(ii) Lewis.

(iii) Mill.

(iv) Keynes.

(c) According to Prebisch-Singer hypothesis the income

elasticity of exports of UDCs.

(i) Very low.

(ii) Very high.

(iii) Perfectly elastic.

(iv) Zero.

(d) Open economy implies that the nations :

(i) Privatizes its Public Sector Undertakings.

(ii) Has adopted the flexible exchange rate policy.

(iii) Allows managed floating.

(iv) Is engaged in trade with other countries

(e) In Heckscher-Ohlin model, the two countries differ in:

(i) Tastes.

(ii) Military capabilities

(iii) Relative availabilities of factors of production.

(iv) Size. (5×1=5)
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B. Match the following :

(a) Vicious circle of poverty (i) J.S Mill

(b) International specialization (ii) Combination of factors with

same cost

(c) Reciprocal demand (iii) Favourable BOP

(d) Iso-cost line (iv) Low demand, low supply

(e) R-P > Zero (v) Principle of Comparative cost

advantage (5×1=5)

(i)

(ii)

(iii)

(iv)

R-P > (v)
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C. Answer the following :

(a) Define Opportunity Cost.

(b) Difference between Inter-regional and International

trade.

(c) What is Fixed Exchange rate? (3×2=6)

UNIT–I

( –I )

3. Why does trade take place between countries? What are the

advantages of International specializations? 16

4. Explain the Comparative Cost Advantage Theory of

International trade. 16

UNIT–II

( –II )

5. "International trade may be as much a hindrance as a help

in the economic development of a country". Explain. 16
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6. Explain the main types of Terms of Trade. On what factors

do Terms of Trade depend? 16

UNIT–III

( –III)

7. What are the causes of adverse Balance of Payments? How

can it be corrected? 16

8. What do you mean by exchange rate? Explain the main

factors which determine the exchange rate. 16

UNIT–IV

( –IV)

9. How far the WTO policies are proving beneficial for

economic development of developing countries like India.

16



10. What is meant by WTO? Discuss its objectives, scope and

important agreements. 16
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